[image: image1.png]Fie Device

FaM [HEX. [Rox. [t b e Device data

T TS [ T B b B O

2 00 10240 7508 00 1 FAM3E 0.0000 0.0000

i EE 1:;2 1;22; EE 1 FAMAS_|0.0000 00000 00000 (iezd
1

B Sotees o o ! HEXE 00000 00000 00000 i

£ D o : HERdE_|00012 o010 0038

2 T o 2 Raxa6_|0.ous oo0ts 00413

5 ool #13] o 5 Raxes 00003 00037 0azen

s 00y 26 0o s

10 007 6 0o 5

11 002182 2257 00 3 o] 2

i 00hgrs 95 0o s

2 e — o5 2 Rotr Tpagu

s Soms 12 o0 . cros | Mees [ S c s cowexas Aok

s o5 135 0o i I~ FAM [ HEX [~ ROX

16 001265 1415 00 n & ReB02 Run CFAM48 @ HEX48  ROX48

i7 0oe1s 75 0o s

i 00601 &9 0o s

0 08584 73] 0o s

£ 0als1a 8 0o s

21 08310 7] 0o 6

2 08324 S 0o 6

= 08298 4 0o 6

2 08333 7] 0o 5

2 00212 155 0s -

£ 00221 185, 0s

F2 ELIET) 51 0s

£ 00218 154 0s

£ 08193 73] 0s

£ 08150 6s 0s

a1 08148 87 0s

2 08148 87 0s

B 0885 3s 0s

a4 0ilas 38 0s

a5 0ilas 38 0s

B 0ilas 3s 0s

o 0ilas 3s 0s

£ 0ilas 38 0s

£ 0ilas 38 0s

a0 0ilas 3s 0s

a 0ilas 38 0s

2 0lar 38 0s

i 0885 3s 0s

s LIS 35 0s

s 0ilas 38 0s

m 0ilas 3s 0s

2 0la7 37 0s

s 0ilas 38 0o





